
U3(4).4 (mod 13)

blocks defect matrix

G : 1 1 13× 12
2 0 521 = χ3+, ϕ3+

3 0 781 = χ7,0+, ϕ7,0+

4 0 782 = χ7,1+, ϕ7,1+

5 0 2081 = χ9+, ϕ9+

blocks defect matrix

6 0 651 = χ14,0, ϕ14,0

7 0 652 = χ14,1, ϕ14,1

8 0 653 = χ14,2, ϕ14,2

9 = 7 0 654 = χ14,3, ϕ14,3

10 0 2601 = χ15+, ϕ15+

Block 1: ϕ1,0 ϕ1,1 ϕ1,2 ϕ1,3 ϕ2,0 ϕ2,1 ϕ2,2 ϕ2,3 ϕ13,0 ϕ13,1 ϕ13,2 ϕ13,3

11 = χ1,0 1 . . . . . . . . . . .
12 = χ1,1 . 1 . . . . . . . . . .
13 = χ1,2 . . 1 . . . . . . . . .
14 = χ1,3 . . . 1 . . . . . . . .

121 = χ2,0 . . . . 1 . . . . . . .
122 = χ2,1 . . . . . 1 . . . . . .
123 = χ2,2 . . . . . . 1 . . . . .
124 = χ2,3 . . . . . . . 1 . . . .
641 = χ13,0 1 . . . . . . . 1 . . .
642 = χ13,1 . 1 . . . . . . . 1 . .
643 = χ13,2 . . 1 . . . . . . . 1 .
644 = χ13,3 . . . 1 . . . . . . . 1
3001 = χ19+ . . . . 1 1 1 1 1 1 1 1

ϕ1,0 = 11
ϕ1,1 = 12
ϕ1,2 = 13
ϕ1,3 = 14
ϕ2,0 = 121
ϕ2,1 = 122

ϕ2,2 = 123
ϕ2,3 = 124
ϕ13,0 = 631
ϕ13,1 = 632
ϕ13,2 = 633
ϕ13,3 = 634


